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OUTPUT FOR PROGRAM NO. 23:
[image: image1.png]MENU

1.Concatenation(+)
2. Assignment (=)

3. Conparison(<)

4. Exit(x)

Enter choice:+

Final string is: sushil goel
WANT TO CONTINUE:(1/0) 1

Enter choic

sushil goel is larger than goel

WANT TO CONTINUE:(1/0) 1

Enter choic

Final string is: goel

WANT TO CONTINUE:(1/0) ©





OUTPUT FOR PROGRAM NO. 24:

[image: image2.png]Enter string:Sushil Kr Goel

MENU

4 Exit(x)
Enter choice:(1-4)1

The length of String is: 14
WANT TO CONTINUE:(1/0) 1

Enter choice:(1-4)2

Now string is: SUSHIL KR GOEL
WANT TO CONTINUE:(1/0) 1

Enter choice:(1-4)3

Now string is: sushil kr goel

WANT TO CONTINUE:(1/0) ©_




OUTPUT FOR PROGRAM NO. 25:

[image: image3.png]This Program is showing the use of operator ouerloading
In this program, unary minus(-) operator is overloaded

Enter x,y and z:

[x=100 y=-200 z=300

x=-100 y=200 =z

Thankyou?,




OUTPUT FOR PROGRAM NO. 26:

[image: image4.png]Enter x and y coordinates to be allocated:100
200

Using Ouverload new:
Allocated location:
100,200

Allocating array:
Using overload new[].
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n overloaded delete.
Freeing array using overloaded delete[]





